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Final Exam

You will be able to make a maximum of 60 points. There are a few pieces of advice we can
offer at this stage:

1. Use the theoretical tools and terminology you have learned in class and from the text-
book.

2. Make sure there is a clear structure in your argument. (Use some time to sort your ideas
before you start writing the version you want to submit.)

3. Use the time you have! If you are ready much earlier than we planned you should won-
der if you forgot something.

4. Remember: people have to be able to decipher what you write.

5. Leave a margin for our comments, so we can give you a more detailed feedback than
just the number of points.

Here is the set of problems:

Examiner: Prof. Dr. B. Wolff

Please solve four (4) of the following five (5) problems (maximum of 15 points per prob-
lem):

You are welcome to use a dictionary and a calculator.

Problem 1: Multiple Choice

Write the answers to each question on this problem sheet (which you will need to return with
your answer sheet). For each incorrect answer, one point will be deducted for that particular
question. If no solution is marked on this sheet, you will neither gain nor loose a point.

1) If incentive problems can be overcome, then it is in the interest of all parties to develop
efficient solutions to agency problems. Through , there will be more wealth to
be shared among contracting parties.

[(Ja) adverse selection

[Jb) value maximization

[Jc) contracting until marginal benefit (MB) equals zero
[Jd) asymmetric information

2) An informal understanding about the quality of product components is a key to the rela-
tionship between most companies and their suppliers. This a good example of:
(Ja) an implicit contract.
0Jb) an explicit contract.
[(Jc) a principal/agent conflict resolution.
[Jd) an adverse selection problem.

3) Inside the corporation there are

4)

5)

6)

7

8)

(8}

systems that motivate individuals and teams to h
make the most efficient decisions over products sales.
[Ja) automatic administrative

[J b) automatic market driven |
[J ¢) no automatic administrative

[Jd) no

If D represents the level of decentralization of corporate decision making, then Bene-
fits = B*D and Costs = A*D + C*D’. The optimal level of decentralization occurs
where:

[(CJa) Benefits = Costs

[b) Costs are equal to zero

(J¢) D=BD-Ad-CD?

[(Jd) D=(B-A)/2C

Rapidly-changing technology and/or changing governmental regulatory environment
always favors:

(Ja) the U-form organization.

OJb) the M-form based on geography.

[(Jc) the matrix organization.

[ d) None of the above.

If a corporation operates two divisions that supply one another, and each division is
located in a different country, then transfer prices:

[J a) are set to allocate profit to the low tax rate country.

LI b) are set to allocate all costs to the low tax rate country.

[Jc) are set to allocate profit to the high tax rate country.

[ d) are not allowed between most countries.

If an executive exercises leadership through changing organizational architecture, then
that manager will:

Oa) reallocate decision rights.

CIb) change the reward system.

[c) restructure the performance evaluation system.

[d) All of the above.

If property rights are very hard to assign and transactions costs are particularly high,
then, given the Coase Theorem, externalities:

[J a) may reduce the efficiency of resource allocation.

[J b) would leave resource efficiency unchanged.

[ c) allow resource allocations to remain efficient.

[J d) have not relationship to efficiency.

plase e —>



PN poon

i199YS JIMSTY 0L (IIM JIIYS WIqoI SIY) wAnjoL asedq

‘Sjusurewino; se suonowoid jo sa3eiueApesip pue sagejueape ay3 ssnasi (q
&S1Y1 311 joo] sayoad Burures
-03e s,91doad Auew op Aypm *a]youd s3urures Suidojs premdn ue ure[dxs pue ydein (e

saafojdury Sururejay pue Sundeayy :g woyqoayg

6PAA0s 3q wd[qoud a3enique ay) pnoo moy (p

o1dwrexas sy woyy Sunnsas Ayunpioddo a8enique oy ssnosiq (o

¢SIvImoggnuew swnyiad ayy Joj jusos ay) Jo soud Suiziwpew-jiyod oyy st jeypm (q
gSIaImpEInUBW [93 J9MOYS Y3 JOJ JULDS Ay} JO aoud Surziurxew-youd sy st ’yMm (e

‘S}|nsal pue suone[no[es anoA urejdxy ‘Jusos swes ay1 asn syonpoid
PUS 1jog *0Z3 st 3ua0s oy Suronpoid jo 1500 [eurrews YL ‘00T - 00¥ = 44 19%rew swnyiad ay
18 pue Q01 - 00T = 4 S! Joxew [o3 19MOYs 34 Je JU30S Y} JOJ pUBWAP Sy “JodIEwW swnyad
343 38 uonnadwos ou sey jnq edURW 198 19moys oy 1e uonnadwos 308} Joonpoid jueidely
YL ‘s1onpoid swnyiad pue [o8 J9MOYS 03 Jus0s Swes 343 [13s 03 3]qe s! 190npoud jueideyy v

SUOLIBSUBLL, J9HIEW-UON PUB JINIBIA] :p WIqOIg

$HOJ33 30 [943] rewndo ay3 sapraoad sourer usym asinoo J103 a1 yo yyoud oy st ey (o
&dp1aoid pnoys sawrer 11035 3o [2A3] [ewndo oy st jeypm (q
¢dadaay

3213 © se y1om 03 wiy 3108 0) sowrer Aed 0 P33U 351109 J]08 Y3 pjnom yonw moy (e
'S}nsal pue suone[nofeo ok urerdxy ‘2 ‘woys jo [9A3] pay10ads
© sopiaoad ay 31 A[uo Arefes siy jo ued e wiy Aed pinom 18y PeRUOS € sourer SI9]JO 95IN0D
3103 3Y] 30013 = g :0Je O s, sourer woy sey a4o0[dw s saurer s)yousq Y "00S 13
ST AJI[1IN UONBAISSII SIH ‘palIoxe HOJJ9 JO sj1un Jo Joquinu 3y 513 pue powsad oy Joj SWod
UL SIY ST *9 — [ =) S uonouny A3[nn sIy *2s1od J108 © je 1odooy usaiS e se SyJom sawef

WR[qOJ SARUDU] :¢ WIqoIg

46[013U0O UOISISAP pue JudwaFeurw uoisioap Aq Juesw st1eym (q
JuSWUSISse JYSU UOISIOAP [BISTE] JO SIS00 PUE sjyyouaq ay) ssnosi(q (e

SIYBRY uoISIA( 17 waqog




